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| have a high eye for men
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KISS : Korean-english Idioms in Sentences dataSet

https://github.com/Judy-Choi/KISS
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Kim Ji-hoon's long journey ... has finally
come to an end.

The Ministry of Economy and Finance
takes charge of ...

Chinese Hollywood star Zhang Ziyi (28)
will marry ...
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| have high standards for woman.

— Ol X|o| HO2| =52 2ot ZX|=22| 7|LtZl 0470| OpELY  Kim Ji-hoon's long journey to restore his father's honor
O HE ®Ct :
! = has finally come to an end.

=r C JISI UKL L SIA|AMKE Thed R QFslol =CHE oiC The Ministry Qf Economy aqd Finance takes charge of
S Tk (2B ST SE A e SHS HWC the deregulation related to innovative growth.

=R S B4 EE|RE AEF YZO|(ETF1E, 28)7t A HAtEIF  Chinese Hollywood star Zhang Ziyi (28) will marry her
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current boyfriend, U.S. billionaire Aviv Nevo (42), next year.
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The government has been lucky about ways to raise
the criteria of age for senior citizens.
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Kim Ji-hoon's long journey to restore his
father's honor has finally come to an end.
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Takeshi Onaga, an incumbent Governor of Okinawa,
became famous for pancreatic cancer on the 8th.
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Blacklist Method
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0| HHol W At the beginning, Representative Kang said, “| will be audited by the auditor,” when the

matter was raised in the state audit.
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Initially, Kang endured the issue during a parliamentary audit, saying he would undergo an
audit by the Board of Audit and Inspection, but he immediately decided to step down.
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